do /d p_[fb/GeV]

Ratio to ATLAS

=
o
>

=
o
w

10?

10

[EEY

0.5

13000 GeV pp

tt

| I T I I I | I I I T | 9
— -0 C
— | . . -1 D
- pT (ATLAS dileptonic ttbar) 13
- =
- —©
o\
B A
o
— s
— 1<
— g 1
- pey® 1<
o "&E-E m |

B \‘: ,}! - N

- & = -
— N J]©
- g\ | 12
N 3
g\ §
I \’i s, ] \—|
- m  ATLAS N .=
— . B <
—  --g- Pythia 6.428 391 NN 1%
- - <-- Pythia 6.428 393 e . —5
- e Pythia 6.428 394 SN <
- ¥-- Pythia 6.428 395 2 S
— =
- 49
- 1o
B 1 O
= e e T
— —2
1

L : .EEEE _

syy- % el e a
_ _____D_._..E.—"
— OB -E —0.5
" 1 1 1 1 " | " 1 " 1 1 1 " | " 1 1 1 " |
0 100 200 300

Lepton P, [GeV]



	Contents
	Page 1


